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The Theory Of Evolution By Natural Selection (p. 276 - 282)

w I. Darwin Proposed A Mechanism For Evolution

1. EJ o Hon is the process by which modern organisms descended from
ancient orgamsms. (Not in the book.)
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II. Evolution By Natural Selection

1. Define the term natural selection.
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2. Define the term adaptation.
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4. On The Origin Of Species, presented a view of evolution that was widely accepted.
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5. List the four components of Darwin’s theory of evolution by natural selection.
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II1. Darwin’s Ideas Updated (Questions 2 — 5 are not in the book.)

1. How does natural selection affect allele frequencies in populatlons"
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2. What does the Hardy-Weinberg principle state?
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8. Differentiate between gradualism and punctuated equilibrium.
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